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CWM
From CWM, p.84:

ϕθg = Gεa ◦GFg ◦ ηx
= Gεa ◦ ηGa ◦ g
= g

ϕθg = ϕ(εa ◦ Fg) by defθ
= G(εa ◦ Fg) ◦ ηx by defϕ.
= Gεa ◦GFg ◦ ηx by respcompG
= Gεa ◦ ηGa ◦ g by sqcondη
= idGa ◦ g by Gε ◦ ηG = 1
= g

2025shapes-basic-calculus 2025aug02 23:56

http://anggtwu.net/2025.1-C2.html


3

O aqui e agora não existe mais
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F (x) = (6x3)(7x4)
F ′(x) = (F (x))′

= ((6x3)(7x4))′

= d
dx
((6x3)(7x4))

= (6x3) d
dx
(7x4) + (7x4) d

dx
(6x3)

= (6x3) d
dx
(7x4) + (7x4) · 6 d

dx
x3

= (6x3) d
dx
(7x4) + (7x4) · 6 · 3x2

= (6x3) d
dx
(7x4) + (7x4)(18x2)

= (6x3) · 7 d
dx
x4 + (7x4)(18x2)

(10)
= (6x3) · 7 · 4x3 + (7x4)(18x2) RPowx
= (6x3)(28x3) + (7x4)(18x2)
= (6x3)(28x3) + 126x6

= 168x6 + 126x6

= 294x6

F (x) =1 (6x3)(7x4)

F ′(x) 2L =2 ( F (x) 3L)
′
2R

=3 ( (6x3)(7x4) 3R)
′
4L

=4
d
dx
((6x3)(7x4)) 4

=5 (6x3) d
dx
(7x4) + (7x4) d

dx
(6x3) 6L 5R

=6 (6x3) d
dx
(7x4) + (7x4) · 6 d

dx
x3

7L 6R

=7 (6x3) d
dx
(7x4) + (7x4) · 6 · 3x2

7R 8L

=8 (6x3) d
dx
(7x4) 9L + (7x4) (18x2) 8R

=9 (6x3) · 7 d
dx
x4

10L 9R + (7x4)(18x2)

=10 (6x3) · 7 · 4x3
10R 11L + (7x4)(18x2)

=11 (6x3) (28x3) 11R + (7x4)(18x2) 12L

=12 (6x3)(28x3) 13L + 126x6
12R

=13 168x6
13R + 126x6

14L

=14 294x6
14R
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